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Find the area of the region that lies inside the circle r = 3cosd and outside

the cardicid » =1+cosé. &) Qoints)
/'\fea 7Tk (rea 08’ fAQ 5"‘06‘(% res‘ah ) &'-:E
L. T4 ‘
= (5 5(3‘&9) dp ...S b H-Lmb) (M]
= T e i

q k}:o S —zmé-ﬂfd&

o
ok/j o

Bos o
Y8 -2ed -1 28 . RENFYTY (-1334»0
L S (+ nb2 3¢ b
| 7*_['1-»@*»29]—110—»&4 dé . tefz L
T 530
S L“,,,,'zb __'z_co—;é-&-'id(} 0:7_7:,6_-1"
3 3

= Q_SM’UQ 151*16‘-(-3!9&)

243 _ 212 Ty —0 =1
gt

14- Find the area of the surface of the solid that results by revolving the region

enclosed by the curves y =¢*, x =0, x =In2 about the x —axis . (5 points)
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7. The integra! that gives the arc length of the curve x =¢? , 0<y <1 is
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fI- Set up the integrals that represent: - (do not evaluate the integrals).
a- the area of the region, lies inside the cardioids » =1+cos@ and
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IV- a- Find the Manclaurin series for the function

(3 points)
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